Frame Assenﬁly Guide for MAK4 V2 10IN T7.5

M3%6 i M3*6

14+ WARNING!

rotating parts may cause injury

= = " = Carbon fiber upper plate

l-shaped aluminum
M3%35%D6

> -shaped aluminum
tube M3*35%D6

M3 P

rivet nut

ase plate thickness

3%18

Carbon fiber board parameters

Thickness of upper plate::2.0mm

Thickness of carbon fiber midplate:3.0mm
Base plate thickness:3.0mm

Arm thickness:7.5mm/4PCS

Carbon fiber side panels:2.5mm/2PCS
Junction plate:2.0mm/2PCS

Carbon fiber front lip plate thickness:2.5mm
Carbon fiber back lip plate thickness:1.5mm

Specification and puantity

Standard fitting :

Screw:M3*6 Quantity 8pcs

Screw:M3"8 Quantity 2pcs

Screw:M3*12 Quantity 10pcs

Screw:M3*18 Quantity 4pcs

Screw:M:*“ls Quantity 4pcs

Screw:M3*25 Quantity 4pcs

M3 Plate rivet nut:12pcs

M3 Nylon nut:4pcs

Aluminium working tube:M3*35*D6 Quantity 8pcs




